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} 512019 (1) (ED)
1. ‘The Ampere-Maxwells equation is given

do dog

(B) ‘f’Bdl = Woie + Mo €o— =

©) é BdA =0
-dé
D Cidl = —=E.
(D) (i) Edl 7

2. What is the mechanical energy E of the
lincar oscillator ? Given initially, the
Block's position is x = 11 cm, speed is
v =0 and spring constant k = 65 Nm"'.
(A) 0.661] (B) O.11)

(C) 039 (D) 0.79J

3. The C# or Visual Basic compiler converts
your code into a special language named

(B) MMSL
(D) MISL

(A) MSSL
(C) MSIL

4. In a certain code {anguage, ' pcn pcncnl‘_ls
written as '$?", ‘eraser sharpenc Bawpllcn |

8s '@#' and ‘pencil eraser’ is written as

‘$@°, then what is the code ;

(A) # B) ?
L 4
© S

ich is least like other

(B) Ginger
(D) Tomato
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orfrqr-Aaede e fFae gra fan s
LK

(A) 4; EdA = 69

0

. do
®) § Bdl=poic +Ho € -gf

(€) §BdA=0

~d
(D) 99 Edl =-—-£ﬁ

. el dfer A aifrs s Exn R 7 e

3 s Y R x= 11 cm R, T v.= 03k

FAF fer® k = 65 Nm- ® |
(A) 0.66] -{A (B) 0.1
(€) 0393 QDJ 0.79 |

Cr'a gl  HPTGEI 3F F2 B
o fa

Few R

(A) MSSL () MMSL

(©) MSE. (D) MISL

. w R wftm i, ‘pen pencil’ ST F

w9 3 W) 1 for@r amen R, craser sharpener’
#) ‘@# ¥ w A forgn 9mm & a3l pencil
craser’ M 'S@° ¥ &Y § feran s &, @
‘pen AT E R e & )

(A) # (B) 7
©) $ (D) @
. Pi=fafed 4 @ ag w2 gfe s e ¥ a1
752 A waR 7 Ay R
(A) TR (B) &
(C) 3y (D) TR

6. Complere 1y,

7.

Y.

10.

12.

L3 13.2)
A
(C) 29

IANs 2 3,
|Al= 3 then |

|
(A) 5

|
C) —
( i2
If ‘Orange’ |
called ‘Soap'
is called ‘Hy
"Orangc’, wi
for washing ¢
(A) Honey
(C) Buuer

Whach functj
i non-sequcn
(A) seek()n
(B) write() 1
(©) read() a
(D) write() 4
Who was the |
(A) Bhagwal
(B) Bansilal
(C) Ruov Vire
(D) Devilal
Sacchar formi
year ?

(A) 1945
(C) 1946

Whichof the fo
scheme (s) fol
Haryana ?

(A) Provide tt
(B) Build the
(C) Geant for |
(D) Allof the
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52019 (1) (E1) . LLLT T TR
13. Whatis the suength of judges in Punjaband | 13 41 aiv eRtamn 3= marera # i o T
Haryana high court ? qgEnaR? 19 W
(A) 68 (B) 38 (A) 68 (B) 38 u
() 58 (D) 48 (€) 58 (D) 48 (A
14. Which of the dance is mainly performed on | 14. ferame gm0y 3 PR-m T Ta; B T X2 («
the marriage ceremony ? (A) 9 TR
(A) Ghodi dance (B) iR 3= 20. If
(B) Gangor puja dance R4 0
(C) Dhamal dance (C) v9e T th
(D) Gugga dance (D) Tm 7= A
15. The volumc of a Parallclopiped whose | 15. % #oRim 99 #1 3@ # &m fra (B
c_o-terminal efigcs are the vectors e e fFd ¥ arg At =2 +j -3k, (d
F=2i+j-3kb=i+j+dand B=i-%+ N o S P (c
(4
(A) 32cubicunils (B) 22 cubic units (A 32 T ZFRE (B) 22w 2l. W
(C) 12cubicunits (D) 42 eubic units (C)f 2T (D) 425 @ L
(A
In Python which data type is unordered and | 16, 9@@s § FA-Tq AtFHg1 TR Nama ik (B
mutable ? oftacd & ? (
(A) Sets (B) Tuples (A) ¥R (B) TqI® (D
(C) Sequence (D) Mapping () Rafw (D) Af™ 5
o
If acurrent loop carrying acurrentI, withN | 17, 3fe = faga ur &9, IR NmEaE 3
twns and area enclosed:by the currentis A, & e aiv Frege o e e d AR S¢
then the magnelic dipole moment is given ; ' (A
by | & gohra Ryha nfa e g & o B ? &
N . t
IA 58) y NA (A) m= % (B) m RE D
A
(w< . (D) m=NIA (©) m=i{ (D) m=NIA 3. W
: . Ca
: se the"pair of words that shows the | 18. a8 =2 Im T 3 R mo gm g Tt e (Al
relationship as given by the pair. oy R Rar ) o)
“frtology ' Ffr ; SRR
< T 4. W
- IT):::..M P iolgy (A) & : fE md
~° 1RRues “Moipholo F0F ; MFRTEI
(€) Wiglpmahi o R T (A)
(D) | Insectsy S (C) i ; afdrfam C)
: nsects : Entg (
mology (D) @ efgm
-
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5/2019 (1) (E1) |
36. The district in which should have highest [ 36. 8 Rt # ma @11 ) GGa1 728 Jifires g 43. 1y
number of gram sabhas ? afee 7 «
(A) Karnal (B) Gurugram (A) FEI (B) Term 7]
(C) Panipat (D) Hisar (C) g (D) féam (a
37. Thevalucof A forwhich the homogeneous | 37. A &l g4 1 e Rrah g wag soeh (¢
systemAx+y+2=0,-x+Ay+z=0, Ax+y+2=0-x4dy+z=0 (
- X~y + A =0 has non trivial solution is -X-y+ L:ommﬁ%?
(A) $43 (B) 0 (A) 43 (B) 0 44,
© -3 (D) 3 (© -3 (D) 3 {
38. In database. a relation means a 38, TG, U day o ard @ |
(A) Domain (B) Table (A) 2 (B)
(C) Key (D) Tuple (C) # (D) &
£ B X3 7 45.
Ifx=-9isarootof [2 x 2|=0.then 39, gR |2 x 2|=0HTHFIA x=-9 B,
7 6 x 7 6 x
the other two roots are 3 %F& A o 3
(A) -2.7 (B) —2.—7 (A) _2'7 (B) _2_7 46.
€ 2.-7 (D) 2,7 ©) 2.-7 (D) 2,7
EDTA is ligand. 40. EDTA e |
(A) Monodentate (A) Th s
(B) Tetradentate (B) 91q: &%
(C) Bidentate (C) g T+
(D) Hexadentate (D) ¥ I
. In a'code, language. SOLID is writien as | 41, U® fxfvaa sfkar 4, SoOLID weg &
WPSLPIMFHA. What does the code word WPSLPIMFHA % &9 & wadisor fsm
TEXXQIBVO refer o0 ? 171 R | 36 FHAF Frgm i e =R 1R 47
- 9
(A) WATER T8 e ATEXXQIBVO & &1 ¥1&8 @M ?
o (A) WATER (B) WAFER
€)' WAGER (D) EAGER (C) WAGER (D) EAGER
Which of the following plants is est: blis R | Fa g
_ s establist . Urd
at Babol e ablished | 42 * i g FErE @ e ?
(A) Sugar (B) Fenilizer (A) (B) IR |
(C) Cement (D) Oil refinery (€) fr (D) o TuH
I
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£ ﬁ?‘t 41. lnlerscc.(ion of 2 subgroups of a group
(G, *)is
(A) a subgroup of G
(B) group but not a subgroup of G
{C) not a subgroup of G

(D) none of these

i

43. Who wrote the book Amuktamalyada ?

(A) Krishnadevaraya
(B) Pulakeshi

(C) Chandragupta

(D) Samudragupta

&
th
.

If x +9, x - 6, 4 are first three elements of
3, GP then x is

(A) 0.16
(C) -16.0

(B) 16,-16
(D) 0.0

46. Which is the correct reason for the outbreak
for the situation of cold war ?
(A)
War
(B)
powcrs i
Bombing on Hiroshimu and Nngasalki
by USA ¥
Invasion or;-?carl Harbour by Japan
& § ©
47. Ifx -2, x, x'+ 3are first three elements of
GP then x is 2

(®9)

(D)

B J6
(D) -6

a’s historic grand tomb is located
in which district, which is associated with
hekh Chilli ?

A) Nunh
(C) Palwal

(B) Hansi
(D) Kurukshetra

Telegram/etayarigovtjob

Defeat of axis force in the Il World |

Emergence of USA and USSR as rivlal .
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43.

4d.

45.

46.

47.

48,
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5/2019(1)([.;1)
(A) G % 3Ivaqe
(B) ¥R A G =1 I7ay 7t
(C) G %1 37aqe 7€ R
(D) ¥ & Ff Tl >
FgFEIEAT IR ReA e b 2
(A) FwRaT
(B) Tethet
(C) I3
(D) 979
aRR x +9, x = 6. 4 MO A & ye3 fH 79
gt x® J
(A) 0,16 (B) 16,-16
(@) -16.0 (D) 0.0
ot g A fRifa F yae &1 78 Frw
FR-WMR?

(A) TR R gz i amaa A

(B) WREd vfFat & &9 & apfEw st
WfRT §9 F1 IWR

(C) nfE v R atv e w
aaaET)

(D) IR TR T ETER G ST

Hﬁx—Z.x,x+3§“ﬁWM%Wﬂﬂ?m

Eaxt

(A) 6 B) V6

© 0 (D) -6

TRarn 1 YdelyE vy nea0 R e €
? Remamudagar?

(A) | (B) wweh

) e (D) FFEH
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68. \’a]u:Of(ﬁ |) i (p\-) i+ (p l)'h
(A) 4p (B) &
(C) -2p (D) 3P

69. Inacerain language. ‘sun shines brighuy”
IS writien as “ba lo wl', ‘houses gre brightly
ht" as “kado ula an ba' and 'hght comes
from sun’ as *dopi Luplo nro’, what code.
words are writion for *sun’ and ‘boghtly® 2

{A) ba. sul (B) ba.lo
(C) sul.lo (D) lo, ba

0. Pomung towards a girl in the piclure, Saniia
said “She is the mother of Nehna, whose
father 1s my son™. How is Sarita related 10
the girl in the picture ?

(A) Mother (B) Cousin
{C) Aumt (D) None of these

71.  Chandru X Ray observatory, is a flagship-
class space telescope of which of the
following spacc agency ?

(A) NASA

(B) Roscosmos

(C) ISRO

(D) Noneof the abave

v

72. Which of the following satellite la
vehicle (Rocket) of ISRO nick n 8s
Bahubali ?

(A) GSLV Mk 11
(B) Scram Jet Engine - TD
(C) RLV.-TD

(D) NOI’IC of lhc above

did Columbus reached the
Indies ?

(B) 1556

(n) 1520

www.etayari.com

68,

69,

70.

71.

b

7.

73.

74.

5/20]9“)(“,
(Bei)eie(pui)eio(p-i)-
% qrenh?

(A) 4p (") 8
C) -2 (D) ¥

% Pfm st # yun shines brighdy* 3
‘ba lo sul’ % ®1 & fvn amm L3 ‘howssea are

brightly lit* %! 'kado ula ani be’ twiﬁw

Tn & o “light comes from sun” ® -

kup Jo nro’ & 39 % Rran v X, vy vae
‘sun’ 3 “rightly” % R Fomg e §7
(A) ba. sul {(B) ba,lo
(C) sul.lo (D) lo.ba
m?ﬁtnvssazﬁﬁ sﬁvwmmgu afn
3 =; ~aw 3w A of {ifeas mgﬁ |
m&m&maﬁ:at
(A) wmn PN fﬁ aanuri
©) ar £ (D) mmmaﬁ
47 vea 3 duwren, Pafafee § 2 fes
m@mﬁmﬁmmv
(AINASA
JB) |
) ISRO

(0 I d R Sl

ISRO # 3978 y&w 7 (Tae) # @ frws
39 argareht § 7

(A) GSLV Mk 1l

(B) ¥R I WA -TD

(C) RLV-TD

(D) Tviwa 7@ = 7
NiCO) R &= 8

(A) @ evas

(B) E-Fmtm

() [
(D) Sgervia

frm al wieien el i o afa?
(A) 1492 (H) 1586
(C) 1498 (D) 1520

mo;

M
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' 572019 (1) (E1)
J English Language

Choose the part of the following sentence
which has an error :
! 75. Neither of the two men were very strong.
(A) Neitherof the two
(B) Of the two men were
(C) Of the two men
(D) No esror

Fill in the blanks with appropriate word from

the options :

76. You can't stop me what | want.
(A) doing (B) thatldo
(C) do (D) tado

77. We by a loud noise during last
night.

(B) were wakingup
(D) were woken up

(A) wokeup

(C) are woken up
78. Mr. Miller doesn’t like

(A) keep (B) is kept

(C) being kept (D) kept

Select the synonym of the word in capital :

79. ZEAL
(A) increase (B) soft
(C) enthusiasm (D) brave

Fill in the blanks with suitable preposition :

waiting.

80. He was here last ' week.
(A) on (B) at
(©) in (D) not needed

Choose the correct.indirect form of the
fallowing sentence from the given options ;

81. He said 10 me “What are you reading” ?
(A) He said that what am I reading
(B). He asked me what | was reading
(©) He suid that what was ) reading
4 £ He asked me what I am reading
\ 'ﬁelecl ord substitute for the following ;

82. “Gain or profit over and above one's salary

or wages',
(A) perquisite (B) surplus
(C) tmover (D) investment

www.etayari.com

83.

8s.

86.

87.

89.

=D ara
‘FEENEY Bam_ A TR
(A)
(B) @Hd 3R i A4
(C)
(D) fwd=w

(®) TNE) W =
(%) (@) (M (@) (%)
Ay @ 3 3
B)3 /4
©) 3/
D 3 A
‘4 @ ' TE IR

H O3

3 ¢ A

3 a3 %
B &
ftu zem @ |

(A) §F4F

(C) i+
‘IEYE =R W HE R
(A) T Y€ 3TgA T F 2

(B) N qEAARATA A
(€) S1vE =f T gan @

(B) faedw
(D) el

(D) St &R e Jm A

‘g’ yree Eeek:boiudac i
it 3R agaga gt i

(B) wHaEd

(©) fa=m

(D) aqT=A

‘ froer’ 3 = 3gw @

(A) fa 8) @

©) fm (D) f®

‘ares § gy fam '’ 9 Ty
m%ﬂ'—!?m%t

(A) WEar} (B) ;;?m
(C) #Ea=y (D) Td
H9: + ¥ =

(A) "y (B) HARY
(C) W™ (D) HA:19
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